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Question Number : 1 Question Id : 70819120194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819165731, IM LT 7]

g0 ]
70819165732. Lot

/ 1
70819165733. Sl

12 2
70819165734, | M7LT 7]

Question Number : 1 Question Id : 70819120194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

g 2
70819165731, LML T 7]

70819165732, | MILTY]

j 1
70819165733. LA

2 2
70819165734, LM7LT 7]

Question Number : 2 Question Id : 70819120195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed ‘u” has head-on collision
elastically with another body ‘Q’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819165735, Poth A and R are correct and R is the correct explanation of A.

20819165736. Both A and R are correct but R is NOT the correct explanation of A.

70819165737. A is correct but R is not correct.

70819165738. A is not correct but R is correct.



Question Number : 2 Question Id : 70819120195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819165735, M I (R) 722 @ @2 (R) T4 (A) TS FIE TR

20819165736, (A) T2 (R) 722 7110% 58 (R), (A) TSTIA FoF ImT /|

70819165737, (A) 0% 98 (R) =1

70819165738, () ¥ 7= (R) 7=

Question Number : 3 Question Id : 70819120196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocity is inversely proportional to its velocity.

moN®p

to follow a trajectory such that the areal velocity is constant.
Choose the correct answer from the options given below :
Options:

70819165739, ** ™Y



70819165740, © °nly

70819165741, D only

70819165742, = only

Question Number : 3 Question Id : 70819120196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

GFE A
70819165739.

70819165740, ¥4 C

70819165741, o< D

70819165742. o

Question Number : 4 Question Id : 70819120197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \.@ R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M
R R
X | B8R Y

Options :

70819165743, -

\,f_f{: - GmM
70819165744, ° K
1 GMhm

2 3
70819165745, V8 R

E\E GMm
3 R2
70819165746, - R

Question Number : 4 Question Id : 70819120197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
B GmM
70819165743, = R°

\.f_f{: - GmM
70819165744, ° R
1 GMhm

1 B
70819165745, V8 R

242 GMm
3 R2
70819165746, - R

Question Number : 5 Question Id : 70819120198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius “a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options:

4

3 maZ + 2mb?
70819165747.

B

—maZ+ 2mb?
70819165748, °

%ma2 + mb?
70819165749,

)
—ma-
70819165750. 5



Question Number : 5 Question Id : 70819120198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

4

3 maZ + 2mb?
70819165747.

—maZ+ 2mb?
70819165748, °

8 maZ + mb-
70819165749,

)
—ma-
70819165750, 5

Question Number : 6 Question Id : 70819120199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be :

Options :
il R &
Iz R
70819165751,
3T(1 \
70819165752, ) ‘T R/

70819165753,



i
r]
70819165754.

Question Number : 6 Question Id : 70819120199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

2T(1 11

iz R/
70819165751,

3T(1_ 1)
70819165752, ) \f R/

: .%-]-\.

70819165753,

i

70819165754, )

Question Number : 7 Question Id : 70819120200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :
-
70819165755,




-
L=
=

70819165756.

70819165757. I

70819165758. P

Question Number : 7 Question Id : 70819120200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
oP
70819165755, K

&
70819165756, P!

.pK
70819165757, I

PK

70819165758. P

Question Number : 8 Question Id : 70819120201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :
Options :
2R

70819165759.

21T 'IE

70819165760.

70819165761.

3
70819165762, 27K

Question Number : 8 Question Id : 70819120201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
2R
70819165759. ©

2T 'IE

70819165760.

e ll'ﬁ
70819165761, 2™ VR



2R
70819165762.

Question Number : 9 Question Id : 70819120202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature 6 at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :

...... 8
R, -
""" L g
Ry &
6,
Options:
0;R5 + 05Ry
70819165763, K1t Ra
.':IIR'I | l]sz
70819165764, J1 tR2
B8R — 05R4
70819165765. Py
0,R5 — R,
70819165766, 2~ Ri

Question Number : 9 Question Id : 70819120202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819165763, R1 TRz

70819165764, 1 T R2

70819165765. g B
0,R> — 4R,

70819165766, 12~ Ki

Question Number : 10 Question Id : 70819120203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R, Its time
period of revolution will be given by :

Options :

3
TxR2
70819165767.

| i

70819165768, | * K

70819165769, T =R?



b |

TaxR
70819165770.

Question Number : 10 Question Id : 70819120203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

b3 | e

TxR
70819165767.

4

3
70819165768, | * R

70819165769, T=R?

- |

TxR
70819165770.

Question Number : 11 Question Id : 70819120204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K, are joined in series, the new spring constant
and time period would be changed by a factor :

Options :

N

ra| =

70819165771.

70819165772.



70819165773.

|
>

70819165774, +

Question Number : 11 Question Id : 70819120204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

N

1
E.l

70819165771.

l
70819165772, *

, 2402

r,_1|._-'

70819165773.

PN
70819165774, *

Question Number : 12 Question Id : 70819120205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of the rod is a= T L.

"
€ a }E
o | - .
0 P
vl
Options :
Q
Jareall
70819165775, ~ 750
Q
—l’:TEﬂ L2
70819165776.
_\3Q
—l-ﬂTEn I_.E
70819165777.
0
= . 2
70819165778, V- Teo L

Question Number : 12 Question Id : 70819120205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
Q
=
70819165775, T eoL
Q
—1-’:TE.[} L2
70819165776.
V30
70819165777.
O
A . 2
70819165778, =V  Teo L

Question Number : 13 Question Id : 70819120206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C > with C > C " when connected in parallel,

the equivalent capacitance is 7 limes the equivalent capacitance of the same connected in

.Cz
series. Calculate the ratio of capacitors, a
Options :
2
70819165779, 1



1
70819165780. 11

15

70819165781, 2

i

70819165782, SV

Question Number : 13 Question Id : 70819120206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
29
70819165779. 12

15
70819165780. 11

15

70819165781, *

31

70819165782, U

Question Number : 14 Question Id : 70819120207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An alternating current is given by the equation i=1, sin wt+1, cos wt. The rms current will
be: :

Options :
i |
= iy + 12)
70819165783. V<

1 (i + is)?
= \f 2
70819165784."E
1
1[2|.2'?
s I R
70819165785, V2

70819165786.

Question Number : 14 Question Id : 70819120207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aFh “Fae! 2Anza FaFad
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Options :
e |
= iy + 12)
70819165783, V<

70819165784.

1 2
— iy + i
70819165785, V2 '

70819165786.



E ra-.| e

3 | =
=
=
4.

[ |3

Question Number : 15 Question Id : 70819120208 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Five equa[ resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

Options :

70819165787.

m|x~'

70819165788.

70819165789, K

3R
70819165790. 2

Question Number : 15 Question Id : 70819120208 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

2R
70819165787.

M|,'T..|'

70819165788.

70819165789, &

3R

70819165790, 2

Question Number : 16 Question Id : 70819120209 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
20819165791, mage is virtual, opposite side of concave mirror.

70819165792. Image is real, same side of concave mirror.

70819165793, Image is virtual, opposite side of convex mirror.



70819165794. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

e =P wqwE oo e i _
70819165791, , 3 wrTw it wem firs 2 2|
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Question Number : 17 Question Id : 70819120210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options:

70819165795, | mm

70819165796, U-72 mm

70819165797, 0.50 mm



70819165798, U-22 mm

Question Number : 17 Question Id : 70819120210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819165795, | mm

70819165796, 072 mm

70819165797, 0.50 mm

70819165798, U-22 mm

Question Number : 18 Question Id : 70819120211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  An electron microscope can achieve better resolving power than an optical
MICroscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819165799 Poth A and R are true and R is the correct explanation of A.

70819165800. Both A and R are true but R is NOT the correct Dxplana’rinn of A.



70819165801 A is true but R is false.

70819165802. A is false but R is true.

Question Number : 18 Question Id : 70819120211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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20819165799, (&) T2 (R) TR 7% @@z (R) 21 (A) TSCIR HoF TR

20819165800, (A) 93¢ (R) 722 #Z® &7 (R), (A) 7939 Ao amm |
70819165801, (A) 77F 2 (R) T

70819165802, (A) ¥ 7 (R) 77|

Question Number : 19 Question Id : 70819120212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of Ak is:

Options :



70819165803, / : 108

70819165804, * -

70819165805, 1+ 3

70819165806, 1 - °

Question Number : 19 Question Id : 70819120212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819165803, / : 108

70819165804.

70819165805, 1 3

70819165806, 1 2

Question Number : 20 Question Id : 70819120213 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%x10"**Js and c=3x 108 ms~ 1]

Options :



70819165807. 654 nm and red colour

70819165808. 6564 nm and orange colour

70819165809. 1046 nm and blue colour

70819165810. 1046 nm and red colour

Question Number : 20 Question Id : 70819120213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ga-As-P ATFS SHARARE I92@ &6 LED (391 3 T @2 9427 =% 53 frew (e
M) 1.9 eV T277e STeTe Tason «@g 9 3¢ 76 209 7
[h=6.63x10"3 Js 32 c=3x 108 ms~1]

Options :

70819165807, 00% nm 9% FE €%

70819165808. 654 nmn 93 FEAEAT 92

70819165809, |20 nm € 9= e

1046 nm G498 == 9%

70819165810.
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Question Number : 21 Question Id : 70819120214 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass /3 kg is kept on a horizontal rough surface of

coefficient of friction ﬁ The critical force to be apphed on the vertical surface as shown

at an angle 60° with horizontal such that it does not move, will be 3x. The value of x will be

W

[g=10 m/s; sin 60°= ,coshﬂ":E]

E
a2
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Question Number : 21 Question Id : 70819120214 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819120215 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{ Y

— A A
A boy pushes a box of mass 2 kg with aforce F =| 2074 10 | N ona frictionless surface.

J
[f the box was initially at rest, then _ m is displacement along the x-axis after

10 s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819120215 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819120216 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ 52 will be
N. [g=10 m/s’]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120216 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120217 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—021 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x X 10 IN.Valueofxis . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120217 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Q35 I WA T34 T 0.135 ¢ /AN $% O B @3B AR CACH AN 74,
y=—0.21 sin (x+30t) TG x BT A2 | TCF0S | A 278 BT G (SR #jefqe27a) T
AxXI0"IN | x @A TEEA |

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120218 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 Latm. Value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120218 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

G AF [TOTES SE MEC G AP 9l T ACE| 42N ATPIA e 4.5 oo <@g oo
ATFHA WS 5.5 6@ 1 49 ATFE 2.0 TYIGAT 591 3.0 TA 7 «®e Faowm 4@ 3.0
AFRGAY T 4.0 T T ARl REm@h Sepide F40a AUREE fHEe o SR T T4
ax1071qEeFI S y @ T EA |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819120219 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
field at Pis xx10~1V/m. Valueof xis . (Rounded-off to the nearest integer)

[Take £,=8.85x10 2N m 2 c=3x1P ms™]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819120219 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

«Fh 1000 W TS Fofe e #1a 2 m @ P e ofte ¢ Fes Twead R -1 3 afefoa
Ffrwel 1.25% W, WA P e ofee 4@eemd W ax 101 V/ mTAE, @I |

[p=885x10"12 CZN"Tm~2 =3 x10° ms™"] (e #efsieam)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120220 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis ______].



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120220 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a7 TG TTATS Gy ALIE TTF PG 08 20 C S ARIS 2| AHIE 478 %0 Ty ed
#TS% 15 V T 77 a0 A1 95 Foar
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120221 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

____________ mA.
Dy 1300
> AN
I)Eﬂ 100 £}
N W
| 120 €}
L AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120221 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HTES TGS TAZS SIS Yiod ST T 50 () €@2 S #STesa 7@ | I Aprad s aea

w6 VHE, T 120 0TAE o A e s@e@ = mA |
3‘ 1300)
1] A
'EI 100 )
I~ AN
| 120 Q)
I: AN
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120222 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x X 102 The value
ofxis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120222 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a3 famm el g famam AT ¢ T T TUE 16V €3¢ 8 V @3 R fFen w=
g W (TeF) @AW ax 1072 | x @AW |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819120223 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change willbe .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120223 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
G LCR 748 SR qeaid Q-290F | THMIETD FNFEa T4 1001 37 9% Ioaia wIaeTe fagd «3e
T4 YT T T T4 @3 AT T Q-2F ([FEED TIE) A ATd |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId : 708191888
Section Number : 3

Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911168
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options :

3p
70819165821.

70819165822, 4d

70819165823, 4!

70819165824, °d

Question Number : 31 Question Id : 70819120224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
b wam «32 12fb s e ) (mre) =g« e 50 24 ¢

Options :

3p
70819165821.



70819165822, 4d

70819165823, 4!

70819165824, 2d

Question Number : 32 Question Id : 70819120225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819165825, Both A and R are true and R is the correct explanation of A

70819165826. Both A and R are true but R is NOT the correct explanation of A

70819165827, ‘A 15 true but R is false

70819165828. A is false but R is true

Question Number : 32 Question Id : 70819120225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



s W% 4gfe e TR | AeE 9 A @@ S I R T i |

O A : s -fars A1 [ e e Srag) () O 0 220grE- a9 (od A
(& R : F1a TRF @0 TEe-49F 07 @@ HF -4 TGTE T5 AT |

Options :

0819165825, A €3¢ R TSR G €32 R, A -« ATGF A |

20819165826, A “7¢ R TS 79 T3 R, A -93 Ao amm |

70819165827, A 79 8 R =P

70819165828, A 191 78 R 7211

Question Number : 33 Question Id : 70819120226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11

Electronic configuration AH in k] mol ~1

of elements
(a) 1s22s2 (1) 801
(b) 1s22s?2p? (i) 899
() 1s22s22p? (i) 1314
(d) 1s?2s%2p! (iv) 1402
Choose the most appropriate answer from the options given below :
Options :
70819165829. (@) — (i), (b) — (iv), () — (i), (d) — (ii)

70819165830, (@) = (), (b) —= (i), () — (ii), (d) — (i)

70819165831, (@) —= (i), (b) — (iii), (c) — (iv), (d) — (1)



70819165832. (@) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wiferal-1 @3 7Zs Siferst-11 Twem 8|
Siferat-1 Siferet-11

(TTCeTs Eretage o) (A;H : k] mol™})
(a) 1s?2s2 (1) 801
(b) 1s22s?2p* (i) 899
(0 1s22s?2p? (i) 1314
(d) 1s?2s% 2p! (iv) 1402
fereferfis faenaf@ tars #iie Teals fifee 74
Options :

70819165829 (@) — (i), (b) — (iv), (¢) — (i), (d) — (ii)

70819165830, (@) — (iv), (b) — (i), (¢) — (i), (d) — (iii)

70819165831, (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819165832. (@) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-1L
List-1 List-11
(Ore) (Element Present)
(a) Kernite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine
(d) Cryolite (iv) Zinc
Choose the most appropriate answer from the options given below :

Options :
70819165833, (3) = (i), (b) = (1), (¢) — (i), (d) — (i)

70819165834, (@) — (i), (b) — (i), (¢) — (ii), (d) — (iv)

20819165835, (@) — (i), (b) = (iv), () — (i), (d) — (iii)

70819165836. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CIfeTl-1 @ A2S Sifersl-11 TS|
SifeTat-1 SrfeTH-11
(srrafae) (BoifEe )
(a) =I5 @ =
(b) FCTHAL (i) T
(c) ST (i) FE=
(d) @CHAEIEG (iv) &
frsfete Teng™ e A0S Teah e F4|
Options :

70819165833, (@ — (i), (b) — (i), (c) — (iv), (d) — (iii)

70819165834, (@ — (iii), (b) — (i), (¢) — (ii), (d) — (iv)



20819165835, (@) — (i), (b) = (iv), (c) — (i), (d) — (iii)

20819165836, (@ — (1), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 35 Question Id : 70819120228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :

Options :

70819165837, 4+ and B only

70819165838, ‘* and C only

70819165839, ‘+ and D only

20819165840, ‘ Band Conly

Question Number : 35 Question Id : 70819120228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl T e fagfest 2=
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Options :

70819165837, raowd A G B

70819165838, T oma A R C

70819165839, raowd A @3t D

70819165840, CFIod A, B @t C

Question Number : 36 Question Id : 70819120229 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO; + H,O0+B — NH,HCO,
NHHCO,; + NaCl — NH,C1+C

Options :
70819165841, 4~ HO : B~0;; C—Na(O,

70819165842. A-H0 ;B-0,; C~NaHCO,

70819165843, S ARl Sk ol = Nahi G

70819165844, = : .

Question Number : 36 Question Id : 70819120229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Trsa At A, B @@2 C 7@ 41
NH, + A +CO, — (NH,),CO,
(NH,),CO, + H,0 + B — NH,HCO,
NH,HCO, + NaCl — NH,Cl +C

Options :

70819165841, 20 ; B~ 0, C~Nay(O;

20819165842, + 120 s B~ 0, ; €~ NaHCO,

70819165843, ¥ Fogen abt SCh BT,

70819165844, e : =

Question Number : 37 Question Id : 70819120230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options :
70819165845, ’bO

70819165846, | 0O2

70819165847, 1 P304

PbSO,
70819165848,

Question Number : 37 Question Id : 70819120230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

a TE G0Ta aEme A @it Teadl #Fhea) 37 TN RS @Ed uel fAeE A
Options:

70819165845, PO

70819165846, | 0O2

70819165847, 1 P304

PbSO,
70819165848.

Question Number : 38 Question Id : 70819120231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MDZ ?
[M is lanthanoid metal]

Options:
70819165849, Nd

70819165850, Y

70819165851, LT

70819165852, Yb

Question Number : 38 Question Id : 70819120231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feesa T AR’ MO, [M FRRGEE TP 5o e =1 7



Options :
70819165849, Nd

70819165850, °Y

70819165851, LT

70819165852, Yb

Question Number : 39 Question Id : 70819120232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in troposphere :
Options :

3 Pprotects us from the UV radiation

7081916585

70819165854 protects us from the X-ray radiation

generates phntodmmical SmMog,
70819165855,

protects us from gremﬂmuse effect
70819165856.

Question Number : 39 Question Id : 70819120232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819165853, T UV fafFael w2t 21



20819165854, TET X-afn ffegel v w1

20819165855 SCATE AEE TS Se e

70819165856, fermIe 2or Tats ST T F0E

Question Number : 40 Question Id : 70819120233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1: A mixture of chloroform and aniline can be separatod bﬂ, simplr_- distillation.

Statement Il :  When separating aniline from a mixture of aniline and water b*. steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819165857, Both Statement I and Statement 11 are true

70819165858. Both Statement I and Statement 11 are false

70819165859 Statement 1 is true but Statement Il is false

70819165860. Statement 1 is false but Statement 11 is lrue

Question Number : 40 Question Id : 70819120233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



s vt fafe e ==

fRfe1: et omem afore «alh @ «as o fere i 1 7w |

fgfe 11:  wnfifem @ wam el Tare A AT Ffers e 4@ T omfefen
TR FHICED (T T TIEE FH0O AT |

e e afera wments frfere femaf e i tae Seaf e o)

Options:

20819165857, [3re 1 @32 Fafe 11 Tewz 7=
20819165858, e 1 «@as fegfe 11 Term@ w11
20819165859, [T 17103 & f3fe 11 g1

a3t 1 5= B fagfe 1110
70819165860. ¥

Question Number : 41 Question Id : 70819120234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is “a” FALSE statement ?

Options :

70819165861. Carius tube is used in the estimation of sulphur in an organic compnund.
70819165862. Carius method is used for the estimation of nitrogen in an organic compound.

70819165863. Kjeldalﬂ’s method is used for the estimation of nitrogen in an organic cr}mpound.

Phosphoric acid produced on oxidation of phosphorus present in an organic compound

70819165864, is precipitated as I\«'Ig?_PED? ‘m addmg magnesia mixture.

Question Number : 41 Question Id : 70819120234 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GG QJEIIT:I'Q\ Sofera e oeer 7
Options :

70819165861. 05 TS AR et foefea nfaam = IRz = |

70819165862. TG tEa Tas I A faofm Fnfam et 9w =)

70819165863, ‘S B (&4 TAL MEGLECA Al frefta e “fafe aaze 241

o el el Faa, (%A Aol TS FRRAITE WL Beef T S Mg,P,0.,

F0o YIRS
70819165864, T e &l

Question Number : 42 Question Id : 70819120235 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For the given reaction :
CH =—CHBr 1. NaNH,
| . = (A)
CH; 2. Red hot iron tube, 873 K (major product)

What is ‘A" ?
Options :
(|2H= CH—-NH,

-

CH,
70819165865.

CH,CH,CH,NH,
70819165866. SN =N St o

70819165867. :



H,C CH,

CH,
70819165868. ‘

Question Number : 42 Question Id : 70819120235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#(wa Tafamy -
CH = CHBr 1. NaNH, -
— . A
‘A TG 7
Options :
(EI—I= CH—-NH,
CH,4
70819165865.

70819165866. - 2

70819165867. :

H,C CH;,

CH,
70819165868. :

Question Number : 43 Question Id : 70819120236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,4
- - Ell'z , "'.h’
TR T 1 '} i
UV light (major product)
monobrominated

CN

What is "A’?

Options :
H,C Hq

708191658609.

CH,CHjy
70819165870.

\CI I/

f "CN
70819165871.
CH,CH;

70819165872.

Question Number : 43 Question Id : 70819120236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

swa Aty .
CH,CHj,
‘ Br, N
UV SICATE (s Gesimaan)
ﬂﬁﬁ ':‘.u]@_
CN
‘A TG ?
Options :
CH,CHj
i :Br
CN
70819165869.
CH,CH,4
i “~CN
70819165870. BT
Bl" {.I'lj
Ncn”
i “~CN
70819165871.
Br” f b
70819165872.

Question Number : 44 Question Id : 70819120237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
| Hydrolysis B

A =
373K (C4HgO)

(C4HgCl5)

B reacts with H}-‘drox}fl amine but does not give Tollen's test. Idr_-nfif}-' A and B.

Options :
70819165873. 1,1-Dichlorobutane and Butanal

70819165874. 2,2-Dichlorobutane and Butanal
70819165875. 1,1-Dichlorobutane and 2-Butanone

2 2.Di ; _ EEr
70819165876. <"~ Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TR B

A i)
33K, Hg0)

(C4HgCly)
B, 235 SR WF i 03 (98 5 <@ T W A @32 B S F4|

Options :

U TATIEG «d2 fAEEEE
70819165873, = ! «qe FASETE
EISFATaeIe a2 fHEhETE
70819165874, 2 2912 qqe FEEEETE
20819165875, 1 1-SREATICH «=¢ 2-REHT

70819165876, 2 2-CEIRTCATRAEIoN @8 FEHM-2-8

Question Number : 45 Question Id : 70819120238 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I::lentit'}-' the major pmducts Aand B rospoctivel}-' in the fnllnwing reactions of phc-nol ’

OH
_‘(ij CHCl;, NaOH Br, in CS, @
-
(ii) HO* 273K
Options :
OH OH
Br CHO
and
70819165877.
OH OH
and
70819165878, DT CHO
OH OH
Br
and
70819165879. 232
OH OH
CHO
and

70819165880.  BY

Question Number : 45 Question Id : 70819120238 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
e ferfatire fafaam dam Teom aer@ e A «d2 B 7S 4|

OH
_-[{ij CHCl;, NaOH Br, in CS,
Sl
(i) HzO™ 273 K ( )
Options :
OH OH
Br CHO
LI L
70819165877.
OH OH
70819165878. BT CHO
OH OH
Br
LI by
70819165879. CHO
OH OH
CHO
€32
70819165880, BT

Question Number : 46 Question Id : 70819120239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  o-Nitrophenol is steam volatile due to intramolecular hydrogen bonding,
Statement 1l :  o-Nitrophenol has high melting due to hydrogen bonding,

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819165881, Both Statement I and Statement 1l are true

70819165882. Both Statement I and Statement 1l are false

70819165883. Statement 1 is true but Statement 11l is false

70819165884, Statement 1 is false but Statement 1l is true

Question Number : 46 Question Id : 70819120239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 11:  ZETgTE T FEC 0-ALLGTFCEE T TFE T |

Torraa e e e e nat| Rt T Teaf e w1
Options :

J0819165881, TS 1A FRafe 11 TeTR Ao

J0819165882, A 1« fRgfe IT=R w1

70819165883, Ture 1710% ¥ fgfe 11 g1

faqfe 15 fem fagfs 11 7=

70819165884



Question Number : 47 Question Id : 70819120240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is

Options :

CH,CH,CH,NHCH,4
70819165885. Bl e i

H
CH.CH.,CH.-N - CH.CH
70819165886. I =073

NH —CH,CH,CHj
70819165887. :

CH,CH,NH,
70819165888, ~ -+ Z

Question Number : 47 Question Id : 70819120240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TAGTTRCE T (@RSTea e AT @b S i 4 ey @ [ Seof 30a | 32%E
TERR0SA S ATATes % &2 S 98S 340 T | SR A0S A T

Options :
CH,CH,CH,NHCH,

70819165885.

H
70819165886, a1 2CHN —CHCH,

70819165887.



: . NH —CH,CH,CHj,

CH;CH,NH,
70819165888. L e

Question Number : 48 Question Id : 70819120241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Nenprene is :

Options :
—{—CI—IECH:CI—I—CHQ—CHE CH ]n
70819165889. CN
Ll“l
L cH, C—(H—CHQA}F
70819165890.
%HNH “/Nﬁh ,,NHCHHE
KHHHKN
NH
70819165891. |
«PCHZ CH-|
In
70819165892. —

Question Number : 48 Question Id : 70819120241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
frafitTa Ay == ¢
Options :

+CHECH:CH—CH2 — CHE—TH%

70819165889. CN

70819165890.

e L
NH
70819165891. |
]
CH,——CH—-
70819165892. .

Question Number : 49 Question Id : 70819120242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819165893, Vitamin B

70819165894. Vitamin C

Tk : a
70819165895, " itamin E



Toh- * i
70819165896. Vitamin K

Question Number : 49 Question Id : 70819120242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tiesa T BTt avea s fawifys 33 2
Options :

70819165893, 201

70819165894, 90N C

70819165895, 190 E

70819165896, "0

Question Number : 50 Question Id : 70819120243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. H,50,, gas X is evolved which turns K,Cr,0,
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options :

KzSD"r Y:{: E{j
70819165897, 3 15(50,);

70819165898, 202 Y=Cr0,

X=50,, Y=Cr,0,
70819165899. : i



X=50,, Y=Cr,(SO,);
70819165900. : gl

Question Number : 50 Question Id : 70819120243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

% =7 H,50, 7 fafem <% @ re 10 X 1@ 2| 3 &g H,50, 79 9&fe K,Cr,0,
FHEE GFM 7T 5 Y T8 A9 F@ | X @32 Y 1S

Options :
X=50,, Y=Cr,(S0,
70819165897. - 2304)3
70819165898, 202 Y= Cr0;
X=503, Y=Cr,0,
70819165899. ' St
X=50,, Y =Cr,(50,);3
70819165900. B t :
Chemistry Section B
Section Id : 708191889
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 7081911169



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120244 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 x 103 is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819120244 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

50000.020 x 10~ 3 TS wigf<jef =rEa A4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

|f JZ
\ oP JT

A certain gas obeys P(V_, —b) =RT. The value of

m

(Integer answer) (Z : compressibility factor)

Response Type : Numeric

1 :
. xb 0, 4
is —. Thevalueofxis .



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e "'JZ: k' . ; i
— | $ATH ﬂ YEEAT | (fbem
\dP )1 RT

b) =RT 7R (0 A —
"Ifrﬂ??ﬁ') |Z =TT SO (compressibility factor)]

G35 5T P(V

m

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120246 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H9=80 K] mol~!) the entropy change A S° depends on the temperature T(in K) as
A S9=2T (] K~ lmol 1),

Minimum temperature at which it will become spontaneous is K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120246 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
a3l qrTe & A + B = C+ D -@@ (A, H® =80 k] mol ~!) «ijf# «ff&radat A SO wrefarat T (K-
GF) -« 6 A SO= (] K~ 1mol ~1) 2T 741 wrpia feréa a1
TR WOy G REn merpd ae e | (ST R 6 )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120247 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

224 mL of 802{ } at 208 Kand 1 atm is pa_qsod through 100 mL of 0.1 M NaOH solution. The

non-volatile aofute produced is dissolved in 36 g of water. The lowering of vapour pressure

of solution (assuming the solution is dilute) ( r’(] 1,0)=24 mmof Hg ] is xx10 "2 mm of Hg,

the value of xis

(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 54 Question Id : 70819120247 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.1 M NaOH ¢ 100 mL B3R %2 iz 298 K €32 1 atm TI7RER 224 mL SO, ) 47T
TE | @7 FTA TN AT @ANG 36 AW GTA ¥Ag© A1 | w4 A 473 fra

1 Ps1,0)=24 mm of Hg ] 9 BICAA S (mm Hyg §FCF) 28 1 x 1072 mm AR | @ x

Pick | (ST AFRE )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819120248 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction AB, ) = A, +2B g) 15 carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole an& the equilibrium pressure was 1.9 atm.

The value of KI’ is xx10~2. The value of x is o (Integer answer)
[R=0.08206 dm?atm K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120248 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



27°C CPIER &b 25 T FE «ih WaTg e s fafan ABypy = Arg* ZB(E}HS‘ﬂﬁ?EW
7| AB, -8 #IG® ATl 57 1 T3 e ST B 1.9 atm. K, @2 W x 10~ 2220 x @
ISR R 1 i s

[R=0.08206 dm’atm K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120249 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the foﬂowing_ reaction
MnOy +8H™* +5¢e~— Mn"* 2 -lI-IEO, =131 V.

The quantity of electricity required in Faraday to reduce five moles of MnQy is

(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120249 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



fefenye fafemanb faras < :
MnOj +8H* +5e~— Mn*2+4H,0, F°=151 V.

570@ MnOjy «@ &R G oS-y oered w28 | (7fAeyr Tea)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120250 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol 1. energy change
AE during the reaction is — 20 kJ, then the activation energy for the reverse reaction in kJ is
. (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120250 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

G3f5 @ @ X — Y @@ Hawsad #@ 30 k] mol 1. ffEwnfha «f@ sfaada AE - 20k =&
fasfate fafem Wae »f& (k] «F0F) = | (s T

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120251 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at 1 atm and 300K inLis

[R=0.0821 L atm K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120251 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1.2 &9 21T 454 @#17 3.12 &I SIS SATES 281 1 atm 5% @2 300 K S1omra 4fs o
SIS ST SR e (L FF) | (4eb1e3m T

[R=0.0821 L atm K ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 59 Question Id : 70819120252 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120252 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TRLBED SHE T FAE [ 39 27 | TeATw I8 Cr @ E A M eE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120253 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [an{{f{:}j 1{1] is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819120253 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Mn,(CO),,] TeiTe orgad (ffE:) CO fommrea wem ==

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191890
5

Online
Mandatory
20

20

80

Yes

1
7081911170

Yes



Question Number : 61 Question Id : 70819120254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
It : and E are perpendicular, then a + * a » * ax b JH is equal to :

Options :

S

70819165911.

e d

4
‘a b

N |-

70819165912.

e
70819165913.|a‘ o

— =

70819165914, @ < b

Question Number : 61 Question Id : 70819120254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

|2

M 5 @@L p R AE T, T a ¥ |a X

T

Options :

P’

70819165911.

—|" —=

4
‘a b

M| =

70819165912.

e
70819165913.|a‘ b



— =

70819165914, @ * b

Question Number : 62 Question Id : 70819120255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7, 5,5), (1, A, 7) and (2A, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options:

70819165915, °

70819165916, 2

70819165917.

70819165918.

Question Number : 62 Question Id : 70819120255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 (1,5,35), (7,5,5), (1, A, 7) €@ (2N, 1, 2) 62 0 AF, O \ & WG Awafaw e
FIC
Options :
39
70819165915, °

39

70819165916.  °



ﬂ
70819165917. 2

44

70819165918, °

Question Number : 63 Question Id : 70819120256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3and 2Zx+y=6is a :
Options :

70819165919, Right angled triangle

70819165920, 1sosceles triangle

70819165921 Equilateral triangle

70819165922, None of the above

Question Number : 63 Question Id : 70819120256 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x—=y=0, x+2y=3 @32 2x +y =6 FTHACAY] e @"Tﬁ'_'i @ @l :

Options :

70819165919, TTRCPI T (45S

70819165920, a2 I9E



70819165921. R

70819165922, 0T TGS =T

Question Number : 64 Question Id : 70819120257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)(a+2) a+2 1
The valueof (a +2)(a+ 3) a+3 1|is:
(a+3)a+4) a+4 1
Options :
70819165923, @ T1@+2)(@+3)

70819165924, (@ T2)(a+3)(a+4)

70819165925, — 2

70819165926,

Question Number : 64 Question Id : 70819120257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@+ @+2) a+2 1
@a+2)(a+3) a+3 1 «q 9954 ;
(@a+3)at+4) a+4d 1

Options :

70819165923, @t D(@+2)(@+3)

20819165924, (@12)(@+3)(a+4)



70819165925, — 2

70819165926, U

Question Number : 65 Question Id : 70819120258 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

%
\ &

20% in 2 hours. If the pnpulation of bacteria is 2000 after is

— hours, then[
IOBE |L5}, ) 8 ]'OBH 2 /

oqual to:
Options :
70819165927, 2

e

70819165928.

oo

70819165929.

70819165930, 16

Question Number : 65 Question Id : 70819120258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&) YA (culture) TAIYA (bacteria) FeATA 3ad T FEHTAT TATE G HeUH TSR

k
= 5 7

loge (2]

<33 12T SFE T4 ¢ =), TR AL 1000; 72 907 G I #17 20%; T

\2

@?@ﬂawqﬁmmmsﬂm[ a4 T+ A :

by

loge2)

Options :

-2

70819165927.

e

70819165928.

oo

70819165929.

6

(51

70819165930.

Question Number : 66 Question Id : 70819120259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

y M
| ‘}i
D\ A ,;IB
Q
Options :

=

70819165931, 24V2

70819165932, 2433



70819165933, 26v2

70819165934, 263

Question Number : 66 Question Id : 70819120259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oG 0@, 4, OA = 1 &3, OB=13 &&F &3 PQ L OB. APQB €3 T5aw(7d W T4 (3
aFF) ;

Y

Options :

"-—lﬁ

70819165931.

]

70819165932, 2433

70819165933, 26v2

[
=
<
W

70819165934.

Question Number : 67 Question Id : 70819120260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: [V3sin(Z +h) — cos(Z + h)]
The value of lim 24 = = — "L s
h—0 | J3h(y3cosh — sinh) ]




Options :

ey

70819165935.

70819165936.

2

70819165937, V2

3
70819165938, 4

Question Number : 67 Question Id : 70819120260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[V3sin(Z +h) — cos(Z +h)]

lim 24 - p @7 W= A

h—0 | J3h(+3cos h — sinh) J

Options :

| R

70819165935.

70819165936.

2

70819165937, V3

W | 0o

70819165938.



Question Number : 68 Question Id : 70819120261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4

The maximum slope of the curve y = —x* — 5x% + 18x% ~ 19x occurs at the point :

3| =

Options :

70819165939, (0. 0)

L
70819165940. (2 2)

_(1 21
70819165941, . 2/

70819165942, (2 9)

Question Number : 68 Question Id : 70819120261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y=—x* — 523 +18x2 — 19y 9% TR AT AENH 2T ACHA T TGS ?

k3| =

Options :

70819165939, (0. 0)

g
70819165940, (& 2)

&, &
3,“71|
70819165941. S

70819165942, (2 9)



Question Number : 69 Question Id : 70819120262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _r i 1
1+ 3

]

dy is:

Options :

P | 2

70819165943.

2
=]

70819165944,

!

70819165945.

70819165946.

Question Number : 69 Question Id : 70819120262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ 2= 4 wamza:
=T &
Options :
w
70819165943, 2

I
=]

70819165944, 2

!

70819165945.

70819165946.



Question Number : 70 Question Id : 70819120263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819165947, 42

70819165948, 52

=]
|

70819165949.

2
2

70819165950.

Question Number : 70 Question Id : 70819120263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WS TEfARHE Fem o FA0O T0A, IR TELR TWE a4 10 @72 @ e 2@, 1,2 G2 3%
71, ©OICHE A2 T4

Options :

70819165947, 42

70819165948. -

b |
=1

70819165949.

i o
-2

70819165950.



Question Number : 71 Question Id : 70819120264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum value of the term mdependent of 't in the expansion of [tp |

\ /
where xe (0, 1) is :
Options :

10!

70819165951, V3(5!)°

2.10!

X .
70819165952, V3(3!)

70819165953, >(!)°

i 2
70819165954, (2})

Question Number : 71 Question Id : 70819120264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
’ 1 £10

1 1 V10 el R )
tx3 4 % @2 fagheBa ‘v s “om Sama™ 2@, T, xe (0, 1) :
\ J
Options :

10!

70819165951, V3(5!)°

2.10!

—
70819165952, V33!



70819165953, -

2
70819165954, A51)

Question Number : 72 Question Id : 70819120265 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set :

Options :
5={x. 24 y2=4
70819165955, 0 W& Y) [ xT+y=4)

70819165956, > (& ¥) | ¥ +y"=2)

70819165957, > (% ¥)

e 3 2:'
70819165958, 5= (@ ¥) | ¥+12= 2}

Question Number : 72 Question Id : 70819120265 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4R R={(P, Q) | P «q2 Q TARY 1373 33 Y SREe), ¢l 7, ©ra Fganel Tt (1, — 1)
A T

Options:

S={(x, 2+y2=4
70819165955, ° (% ¥) [T HyT=4)



70819165956, > (& ¥) | ¥ +y==2}

¢

i g 2 -
70819165957, > (& ¥) | X +y"=1j

e L T
70819165958, 5= (@ ¥) | ¥ +12= 2}

Question Number : 73 Question Id : 70819120266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819165959, 1

70819165960, 4

70819165961, ©

70819165962, 12

Question Number : 73 Question Id : 70819120266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G oo s A T TTaa, T2 “mefa we Fem | 3 A2 @@ Frefq emesfer T 1 2w
& AT TS T3 2O A ?

Options:

70819165959, !

70819165960, 4



70819165961, ©

70819165962, 12

Question Number : 74 Question Id : 70819120267 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :
f—fw)| = | =92, ¥ (v y) € R
If f(0) = 1, then :
Options:

20819165963, /(¥) >0, 7 xe R

70819165964, /() <0 Fxe R

70819165965, /() =0, 7xe R

70819165966. f(x) can take any value in R

Question Number : 74 Question Id : 70819120267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4fd b SIS [ TS R @ @32 37
fO-fy)| = |[&-y)?, ¥ (xyeR
=$ s ca1 IW f0) = 1, A :
Options :

70819165963, /(¥) > 0. 7 xe R

70819165964, /() <0 Fx =R



70819165965, /() =0, ¥x e R

b e
20819165966, / (X) R ~ G0 (1 A 20T Al

Question Number : 75 Question Id : 70819120268 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :
15
28
70819165967. =

1
70819165968, 2

708191659609.

15
14
70819165970, 2

Question Number : 75 Question Id : 70819120268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gl TATPY TAS FCARAE TS 2| 3w 715 72+ et of 72 #wrm g e =, ©Ta
2ff 77T “fem AR 7@

Options :
15

ha
70819165967, 2



15
12
70819165968, 2

15

413
70819165969. <

15
14
70819165970. 2

Question Number : 76 Question Id : 70819120269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.';in_l x cos 'x tan 'y
If - = — = J ; 0 <x <1, then the value of CDS|
a b C .a+b)

Options:

70819165971, 1~V

-

ly‘
70819165972. VY

70819165973.

2y
70819165974,

Question Number : 76 Question Id : 70819120269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



| a3 =
p) NI

' ¢
= 531.0{1'{1WC05|
a b C a4

af sin 'x _cos 'x _tan 'y

Options :

-

70819165971, 1 ¥~

2

-y
70819165972. VY

70819165973.

2y
70819165974.

Question Number : 77 Question Id : 70819120270 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

25
In an increasing geometric series, the sum of the second and the sixth term is % and the

product of the third and fifth term is 25. Then, the sum of 4th gth and 8th terms is equal to :

Options :

]
o

70819165975.

L)

70819165976, -0

70819165977. -

(o]

70819165978, 32

Question Number : 77 Question Id : 70819120270 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

43 FAIYT ST T AT e TSN #fTna FAf 2—:’ AL FOT AL A% AT G 25,
O3 4T, 6T 3 §T AT THOEE 209

Options :

-2
o

70819165975.

3

70819165976, >0

70819165977. -

%

70819165978, 2

Question Number : 78 Question Id : 70819120271 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 7 12 17 22 )
T : s e 15 equal to :
3F @ 3 3

The sum of the infinite series 1 % I

Options :

k.

70819165979, 4
u

70819165980, 4

13

70819165981. 4

15
70819165982, 4



Question Number : 78 Question Id : 70819120271 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ i “¥ ri % : :
1|1|’r—1|1—." L &3 S TR TS 204
Options :
k.
70819165979, *

11
70819165980. 4

13

70819165981. 4

15
70819165982, 4

Question Number : 79 Question Id : 70819120272 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the three planes

P; : 3x+15y+21z=9,

P'2 :x—3y—z=>5, and

Py : 2x+10y +14z=5
Then, which one of the following is true ?
Options :

70819165983. P, and P, are parallel.

70819165984, L1 and P5 are parallel

70819165985. P, P, and P, all are parallel.



20819165986, L2 and P3 are parallel.

Question Number : 79 Question Id : 70819120272 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&b s,
P, : 3x+15y+ =0,
Pr,:x-—"rj---z=5,tﬂ?1'3
P, : 2x+10y+14z=5,
A NTEA TFIG HE 204 ?

Options :

70819165983. b R il

70819165984, P) @@ P, #7149 SRS

P,, P, «d2 P, 31 FFH AAGAH
70819165985, 1" 2 3

P, «@2 P, #a™da TImEaE
70819165986, =2 3

Question Number : 80 Question Id : 70819120273 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n
The value of Y | e* Pl dy where [ x] is the greatest integer < x, is:
n=1 n_1

Options :

70819165987, 100(1—¢)

70819165988, 100(1 +e)



70819165989, 100e

70819165990, 100(e —1)

Question Number : 80 Question Id : 70819120273 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n

> [ el dx qr wm 23, e [x], x @7 =B A TS A TG Feq; <x :
n=1 n-1
Options:
70819165987, 100(1—¢)

70819165988, 100(1+e)

70819165989, 100¢

70819165990, 100(e —1)
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Sub-Section Id : 7081911171

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120274 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the family
. : -

,a>0is_ .

; y ) Ja
of curves given by y~ =aj x + —~
\ 2 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120274 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f =y . i
U'=ah:|%?‘a}DﬂmmﬁaI¢H$WH$EE¢WﬁﬁﬂﬁﬁﬁqWﬂﬁﬁ?&@?ﬁﬂﬁﬂﬂ
\ L)

GO A4 O 303 7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 82 Question Id : 70819120275 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x3—2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819120275 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.

B =202 4+2x—1=0 @3 FAFART FEsla 16297 9Ced 7 209

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120276 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—2|is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819120276 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

y=||x—1|-2| % TEE@ENaE T Fows GwrE rEawa 74
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819120277 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dy siny

& L, ’ . B A1 1
If y=y(x) is the solution of the equation OWJCOWE e Y cosx = cosx, y(0)=0; then

(o) \'ﬁ 3 1 () _
14 ylkgj | ?quj | x—EyIIJ isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120277 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

; i di o
3 y=y(x), " Vcosi Y 4 &8 cosx = cosx, €7 €3 LA 7, RATA y(0)=0; $73

Vo
() \ﬁ () 1 (w)
14 y'\.gJ | ?H'E,J | «q_’ﬁy'\j @

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120278 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is _ .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120278 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
log,(x — 1) =logy(x — 3) @2 FPared Fogk WL %I 7
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120279 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosy =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120279 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3siny+4cosy =k +1 &3 TFRT I FNgW 2@ ‘K’ ¢F FOIH WG W NG AE, A
keR ?

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120280 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let (A, 2, 1) be a point on the plane which passes Lhmugh the point (4, -2, ..). If the plane is
perpendtcular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

A A
| i 4 isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120280 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(4, -2, 2) T «af; wwerem To@ (), fa—gfﬁwf?—mrfﬁﬁ—ﬁ( , —21,29) ¢@s
. \2 -l_fk
11) 11

(-1, —16, 23) WWW@WWW—M 1 @TITA

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120281 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120281 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

™
e, [|sin2y|[dy @ WM T
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120282 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f dﬁ{mszx] = (V3 = 1)cosx + 1, the number of solutions of the given equation when

1

0, —
i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 89 Question Id : 70819120282 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T \B(cos”x) = (V3 = 1)cosx + 1, T A &3 FAGT T HL2 Z7A, A, X €

0, 1|
9

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120283 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I(F{U ) m
| =n-2", then

30 ( ;
(29

) (30)
Letm,n<s Nand ged (2, n)=1. If 3[]‘ ‘ I 29‘ i ‘ Pl |2
/ i \

30 ‘ .
0 28

n+misequalto .

> 5 s ».
n

‘ Hu.m‘ % | ="Cy ‘

L \ )

4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120283 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



i = 30) 300
4 m,n< N @3 ged (2, n)=1 7y -3[][ | 29(. ‘ — 2[
. 0) 1) \
ntmdg A« 29
. n
[Lﬂﬂﬂ. ( W="Ck}
\ kx’ /

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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